7

KACO

new energy.

Quickstart Guide
KACO blueplanet

87.0 TL3 110 TL3 150 TL3
92.0 TL3 125 TL3 155 TL3
105 TL3 137 TL3 165 TL3

Ch;H0)

E www.kaco-newenergy.com

Danger!

Danger to life due to electric shock and electrical discharge.

Dangerous voltages are present in the inverter.

e Only allow work on the device to be carried out by a qualified electrician.

e The device is only permitted to be opened or serviced by a qualified electrician.

e Always disconnect the device from the power supply during installation, maintenance and
repairs and secure it against being switched on again.

e Do not connect or disconnect DC cables to or from the unit during operation to avoid dan-

gerous electric arcs.

_:<:):_ % //

°, 00

Lo e
O O #zm.

[ —
790 mm
31.10in

B
®

o

N

N j E (=
EC
o 00
S -
M -
A
512
y 0
B
7 S
In

\

N
/ &
>500 mm
>19.69 in ~

/



1. Scope of delivery

15

2. Accessories

)

Accessories

Mounting kit

Ziplock bag 100x150

Label 70x35

Washer M10 DIN 125

Hexagon nut M10 DIN 934

Hexagon head screw M10x25 DIN933
CON-PIN-BTB 2POL 1ROW ANG 320V 8A P5,08
CON-PIN-BTB 3POL 1ROW ANG 320V 8A P5,08
CON-P SPRING 6-POL 1,5gmm 160V 8A RM3,5
CON-PLUG SPRING 2POL 1,59 160V 8A RM3,5
Fischer dowel 512

Hexagon wood screw 8x8 DIN571

Spring washer M10 DIN128A

Cable tie 100x2,5 PA 6.6 nature

Combi-Screw DIN6900-3Z4-1TX8.8

KACO order no.

Bending box

1001917

Kit input plate AC Inverter

1001882 (double row) / 1001906 (M63/32)

Kit Overvoltage protection AC Inverter 1001884
Kit Overvoltage protection DC Inverter 1001885
Kit Surge Protection LAN Inverter 1001886
Kit Overvoltage Protection RS485 Inverter 1001887
PID Connection Set 1001888
WLAN adapter Digitus 150N micro 3013222
Spare fuses (10x85mm 1500V 5A PID) 1001883
KACO blueplanet DC-Breaker 1001860

3. Overview

P 5.3 AC overvoltage protection

P 8. Communication variants

» 5.2 DC connection

» 5.1 DC connection

XL version

S version

P 6. PE connection » 5.1 DC connection

Quantity
1

—_

= WUl B =2 2 o U1l O



4. Mounting

e

- H
0o0oooon;

[S/s/S/5/w'a/aiala]
R ¢ 0000000g
. ®

o

B |
N °
o F

550 mm
21.65 in.

458 mm
18.03 in

| Use suitable mounting material @ l

{ M5x12
~ DIN6900-3 Z4-1

M4x10

[DIN6900-3 z4-1] %

5. Installation
5.1 DC connection

i B B

9
&

o
S /NS

W \------""-

| |




3

M6x12
DIN6900-3 24

|

uriLo
ww g ‘Xew | |
:"Ul 8L°€
| * m:m., EE 96
I Ee Y
© | 7m.m.
~ g Em
A
— O —
‘uoter0Q ]
wwg 0z

n only XL version

M6x12
DIN6900-3 Z4-1

|

max. 160 mm / 6,3"

W16/17
30Nm

« P

n only S version

- ; \ /
FEEEEELEEEEELEE >

FOOO0000O000 o

fororer
(i h :
5

% <@§@o
‘4
2
9 *
6 \
N \
D

L7
<=

"
2

>)
5.2 DC connection
15C'n:|§n




DIN6900-3 Z4-1

|

6. PE connection

SW13
10 Nm

5.3 AC overvoltage protection

7. Status LED

(

O (') Operation
() 4 Feed-in
\_ OAFault

-
Operating states
® 6o o
Firmware update

o O @
S

Communication board

USB socket

SD slot

Ethernet for network connection DHCP

RS485 - standard

DIP switch - Activate terminating resistor (2x)

DIP switch must be activated if KACO inverter or String

Combiner is terminal device (120 mOhm).

Upper DIP switch: to String Combiner

Lower DIP switch: to inverter.

7 INV OFF - Connection for remote control devices -
24V/(+/-20%) /1A (min. 15mA)

8 ERR - Connection for external mains protection compo-

nent (fault signal relay)

9 Ethernet - Only for commissioning via static IP
10 RS485 - Connection for string combiner (CON 200)

SO Ul A WN =



9. Initial commissioning

SW20 - Option: e .
- HE - EES : G
6x M5x12
DIN6900-3 Z4-1

Wifi-Stick
a)

http://bp125-125TL01234567
http://bp87-87-0TL01234567

b)
http://192.168.1.1
Caol
<

192.168.1.1/monitor

figure

blueplanet

125TL01654321
o

Password: kacowifi

Standard user:
user - Da_3u1B!

10.Create Report &
Slave-files

— Blue | y
ue log |? Ii

ol > Eéls 1=

oemoaueny O S 8 6 2 BRI KACO

During initial installation, the
installation wizard starts
automatically.

Initial start-up via WiFi - For further
options, see the manual.




11.Group update / Group parameterization

7 =,

(4

Firmware upda

B Sy
-_—>
Mt

12.Registration Portal

\
www.kaco-newenergy.com
: ; e m e+
SVew [QQ ¢ O @ KACO Q
myKACO.com Registration
. J
(]33t (=]
.l.

Blue log Iii

:::::

FTP username

FTP password

mmmmmmmm



13.System overview

1 DC-
combiner box

up to
6 mm?

up to

PV field

n DC-
combiner box

up to
240 mm?
~ up to
o | g S]]
) Current, - 112 712 nxblueplanet
Grid — voltage L B Y D 87-165kVA
FalSiolney sensors L2 oo o Mme
PE=""5S L3 C - '
— cT m VT A Inv off '*:h Inv off
—— o #:b 1 -+ #:h i -1+
N|PE ' max.250A : 5
max. 250A _ E
Ethernet | RS485 Ethernet | RS485!
T2 |1]2 712 |1]2.
Powador-protect
i (GND 5
DOT |- dremmmemrmmmr e
smart meter Blue log XC -
Janitza / Siemens / — Switch
Schneider ...
w5y &k
Ethernet Ethernet | RS485
1 1 12

KACO

.

new energy.

Router

Web portal

Client

Werner-von-Siemens-Allee 1| 74172 Neckarsulm | Germany | Tel. +49 7132 896-0 | info@kaco-newenergy.de | www.kaco-newenergy.de

5492-

220701

301 01-



